&R A H

/\\% 'EE' /% IZI

EU. TOOTHED BELT AXES
LINEAR ACTUATORS




FE mnia s AT

PRODUCT STRUCTURE

SRR 3R BEh R

25 BEARE SR ST R A

(6] mimEE (9] FemsmE(s

40
63

182

—



EmZ i EE AAINTT

PRODUCT CONFIGURATION

Ins2i B ERE

Slider Configuration

T
_ JEH
T - Top INRELEIR *

b=Vl
R - Right
1Ya]
F ~ Front
Vil
U = Under
Yoyl
L =
-2l
B = Back
INss AL EE I B KR AE T
BEARIBRN T EKI= A8
BEHHTERLE

Solid Shaft Configuration

LR

L N s i a2 LF ERIETA HE LB ERES HE LD pa: A fak

No Shaft Left Left Forward Solid Shaft Left Backward Solid Shaft Dual Solid Shaft

¥ @

25

AR HfIETS HE =Yl Yl AfEmLE
R N No Shaft Right R F Right Forward Solid Shaft R B Right Backward Solid Shaft R D Dual Solid Shaft ikl

63

183



BRES mEAEBILES

EU. TOOTHED BELT AXES LINEAR ACTUATOR

AIMT 25 -400- LN RB - D -M100- S3

R KL 712 ERLESE ARHESR  BERRUE BEhE FRA%
Toothed Belt Axes Size (mm) Stroke (mm) Left Solid Shaft Right Solid Shaft Motor Position Motor Power (W) Number of Sensors
Direction Direction

Fedunt Ema BEERE =% 1 AE 3 1Bl
N No Shaft RN No Shaft 0 Direct = M Mitsubishi T ED‘;: S3 3 Se::ors
2] ED] [Esred T o Hit n {EF3R
LF F:rward RF FODrW’:le P FEE Parallel P Panasonic 0 Others. Sn nx SE:V:OVS

i3 B gl

LB Baikward RB Banckward Y Yaskawa

L 2@ gy 2B 100/200/ 400
-way Two-way

BIEIE optionas @ I No options

Motor Povier () 100 / 200 / 400 B
BEHE F.N) 2
e 0.32/0.64 /127
LAy
ERa My (N.m) 1
TZotheTBen Sie () HTD3M - 15 x 3 RIECTHAIE
SEERE +04 My (Nm) 1.5
Rep. Accuracy (mm) -
F— M (Nm) 1.5
FSHER 63 !
Toothed Belt Size (mm)
o L (em?) 22.39
RERE 3000 ERE_RE
Max. Speed (mm/s) 2nd moment of area
Ly e 2441
REE .
e 1...3000 / 100 7 Pitch P
Basic Weight for Omm Stroke (kg) 1.85
SKTRNEDES T — -
Per Meter Stroke (kg cm?/m) . F100mmiTIZIE N E S 0.29
Additional Weight per 100mm Stroke (kg) "
SRATEHEHEE LK
Per Kg Working Load (kg cr;%kg) 1 CS1-M-1M fiBBET 12K
1m Contact Type
25 o - e CS1-MN-3M ERBEENPNALSK
m f-iﬁﬁ ﬁ{g 03 Proximity Sensor 1m Contactless NPN Transistor
Max. Load (Kg) .
s Al . OS1-MP-3M FEBESPNPRLGH
63 Sidehang 1m Contactless PNP Transistor

LEaHNBHR ERERZEHBERIERRAGEBERN Above load torque curve, the loading should be within the maximum load range

184

—



ZCINT

AIMT25 EZARR! stancard BB unit: mm

T=372+STROKE

48 83.5 T {E%5[E L = 109 + STROKE 48
109
y OBHTT4
2052 30 o
ama ]
o \(
S 5 4 s | T d e
: ‘ FF e
e e M d e |
24| [ 24 ] 325 | m‘
5|3
e
N P
g nagi

Advance quide

AEAEEHRSERAE, BERTELBRRREM“22D/3D

A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

AIMT2: E}%ﬁg motor direct installed B unwc mm

T=372+STROKE

48 835 T L = 109+ STROKE 48
109
y G8HTV4
2-052 30 St | kltij
| T 1 4ma
o
5 % RS 3 o /4
‘ &
s +|x “ =
24 | 325 |
3 45
3
2 & < [
<
<|
BERRAE A B C D

100w 14 45,46 M3/M4 54
200 W 19 70  M4,M5 60
400 W 19 70 M4/M5 60

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




”ﬂhfﬁﬁiﬁéﬁﬁgﬁl\}% é EU. TOOTHED BELT AXES LINEAR ACTUATOR

AIMT25-P 2 Z25E motor parallel installed ==

11
D 2
4MC
BN
WS& BEREE
a8 835 T+ L =109+ STROKE PCDB I %@/ o
109
y OBHTT4 19
2-@5.2 \‘%ﬁ - e } }
] —r \g
Wy g Wyt IMPEL
[ i wl §
o 49
;J e \ [/ » s\ o|ls + +
22 ] K 325 | m‘
g 2 s |d
® o
Bz
Advance guide
8
A B C D
T=372 + STROKE

100W 143 45,46 M3/M4 58
200W 149 70  M4,M5 64
400W 149 70 M4/M5 64

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




BRES mEAEBILES

EU. TOOTHED BELT AXES LINEAR ACTUATOR

F:

i
AN,

AIMT 25 -400-LG1- SS1 - LN RB

D -M100- S3

R KL 712 5y IMEEBEHE  ARHEAR AALESE  BERRUE BEhE
Toothed Belt Axes Size (mm) Stroke (mm) Guide Type Number of Slide Left Solid Shaft ~ Right Solid Shait Motor Postion Motor Power (W)
Direction Direction
& 1188 m = Bawe | =Eq ax
o CY BT ety @ NN
= oy ETl ETI 228 \
B B g Rl SR gREE QEAR
p p %]
L8 Bgﬁm RB Bl;agkl%rd izk!z‘
L 2@ gy 2B 100/ 200/ 400
Fwo-way Two-way
BIEIE optionas @ I No options
Motor Povier (W) 100 / 200 / 400 ) 3080 :
Lis
FEEHE Fiy 3080
s 0.32 /064 /127
PALilvars
gt Mxirm 45
Toothed Belt Si?e (mm) HTD3M - 15x 3 ARSI
BT i My 23
Rep. Accuracy (mm) -
a0 Mz (N.m) 85 =
Bty 63 =
Toothed Belt Size (mm) ﬁ
. L (om') 55.1
RERE 3000 B
Max. Speed (mm/s) 2nd moment of area
Lyy (o) 25
71280 _
o 1...3000 / 100 % Pich A — ;
Basic Weight for Omm Stroke (kg) 55
Per Meter Stroke (kg cm?/m) . F100mmfTIZIE N E S 0.48
Additional Weight per 100mm Stroke (kg) " ’g:
SAFANEDEE 13 &
Per Kg Working Load (kg cm?/kg) 1 CS1-M-1M ﬁﬁ%’jiﬁi }K Lis
1m Contact Type
T 10/12/15  BsE560 CS1-MN-3M FEEEENPNLSK
%tg\ ﬁ@ 20 Proximity Sensor 1m Contactless NPN Transistor
Max. Load (Kg) e W
Rl 4,6/8 CS1-MP-3M EAEEEPNPRI3K
Sidehang 1m Contactless PNP Transistor

LEaHNBHR ERERZEHBERIERRAGEBERN Above load torque curve, the loading should be within the maximum load range

180

120

60

180

120

60

267

133

el s

Number of Sensors:

o3 8 ER9E

3x Sensors

gn N 1EIFRA

nx Sensors

ZQAINT

T



ﬁ'hfﬁﬁiﬁéﬁ?t(%?ﬁl\}% fo EU. TOOTHED BELT AXES LINEAR ACTUATOR

BB unit: mm

= $ﬂ%$§£ high guide Solid Shaft right forward standard

T=372+STROKE

48 835 T{FH5E L =109 + STROKE 48
109 19.5
40 4-M4 57
]
— N :
ot
+ + i + + g o ¢ ST ]
=S 4| odw o =)a S of | &3
j o\ o r o\ o j A
24 - I — = Tf T 5
(L 24 | 325
M B14G7x3 \8-@9H7x2.1 9 p= n o
= —

@8h6

e

EAE i
Standard

O] O]
el iEud

105

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

BB unit: mm

AIMT25-LG2-LNRF A8 HEHEEN E AR wide guide Solid Shaft right forward standard

T=372+STROKE

48 835 TfE#0E L =109 + STROKE
109 685
38 40 4-M4 46
24-M4 & — | q
‘ R S —=
a\/\ E Z‘— } & N 4 4l o N e
A l=(c © @ © é\ © @@ 39 ] e
;1"\:0" é\\/$j "’E[A N
2 — — 7" T Iy
24 ] 325
2612 | 014613 \&-09HT0.1 q e N e

105

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




AIMT25-LG

LNRF-D A &1 B = B3 2 2E high guide Solid Shaft right forward direct installed

T=372+STROKE

ZCINT

BB unit: mm

48 83.5 T{FEEE L = 109 + STROKE 4
109 79.5
40 4-M4 57
[ 1
w0
Rl
L N s 4 a7 SRRt
{} 0 q é $ \@ © @) Ha . o
& o A PN S j
— — s THE
] 2-M6x12 @14GTX3 \8-@9HTx2.1 5 45 J o
:%izﬁéémﬁ
<
BERET(L
N 4-MC
PCD.B é %?Q
‘ D
< < & I
i ] &%&
— | Bl e ——2
105 A 5 o 5
100 W 14 45,46 M3/M4 54
200 W 19 70 M4,M5 60
400 W 19 70 M4,M5 60

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

AIMT25-LG2-LNRF-D A B E N B L5 wide guide Solid Shaft right forward direct installed

T=372+STROKE

BB unit: mm

48 83.5 T {F#AME L =109 + STROKE 18
109 68.5 T
40
-7 ‘ H
<+ < Y + + 3 o N =
(N = © é D 8 © @@ N q3 ] s
PO Py E—— ! $K/$;J Ly s %7,
T 1
N ' ‘ 2 325
b 2:-M6x12 @14G7x3 \8-@9HT7x2.1 g ‘T‘J )|
O © =i
— BEREHIE
K BEREL
= 4-MC
S MC
PCD.B 5
‘ 5 \:\ 5
J s+ | NSZ1]
m))]
105
A B C D
100 W 14 45,46 M3/M4 54
200 W 19 70  M4,M5 60
400 W 19 70  M4,M5 60

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




BB unit: mm

111.5

32

D
N E§§< |
«
\@&%L SR T{E§IE L= 109+ STROKE 835 48

109 51
40 4.M4
<
1 5; ] \E
® * * * |l | | * T Te
© @ @ @ \ © op 1 89 o of | o5
< ||® © ° o =
: i == ! E SIERE 5
05
i 4 2-M6x12 P14G7x3 \8-Q9HTx2.1 2% B P J o
1
) * |
Standard [
EL JJE
105 A B C D
T=372 + STROKE 100W 143 45,46 M3/M4 58

200W 149 70 M4,M5 64
400W 149 70  M4/M5 64

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

AIMT25-LG2-LNRF-P E?JTJ ﬁ E%@LFBEJ ﬁ%i’% wide guide Solid Shaft right forward parallel installed FRAT vt mm

100.5

D 32

N E§§< //7%é§§m§

]
\@& U rene T{F#EE L =109 + STROKE 835 48

109 46
40 4-M4
N 1 ;
© s ° o all —& 4 %Er’\
M M é & 8 © o rau 29 o RS
- | » A= RSN
J | i , ‘ 325 i
% 2 2-MBx12 BU4GT3 \8-BIHTx2.1 ‘ 2% a | & | J 0
1
& > }
L
T w A B c D
=372+ STROKE 100W 143 45,46 M3/M4 58

200W 149 70  M4,M5 64
400W 149 70 M4/M5 64

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




ZCINT

BB unit: mm

LNRB A HEH= @ E AR high guide Solid Shatt right forward standard

T=372+STROKE

48 835 T{F#0E L = 109 + STROKE p
109 195
40 4M4 —
L] 1]
o
L RATENE
& R i P & g = i o
7 \=[C) é @ \@\ © o= /] e of | '
= — M v | el
= | 24 ] 35
2605 Q14613 \829HT.1 5‘ " L ¥

105

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

BB unit: mm

AIMT25-LG2-LNRB A& L #h S8 E A2 wide guide Solid Shaft right forward standard

T=372 +STROKE

48 83.5 T/EE5E L=109 + STROKE
109 68.5
38 4 44 2
2x4-M4 = — [T q

Ny » 3 o *

@y |90 o $ $ Q © op (N g q h | o

é s\ e AN s\ » j 7
7 T = | G
325
2-M6x12 Q14G7x3 \8-@9H7x2.1 ﬂ‘ 45 J g‘

105

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




BB unit: mm

T=372 +STROKE

T{E#fE L =109 + STROKE 3
109 795
40 44 5
1] .
| ot
NN v * g « ° N T
S e
ALY 5o 33 )
4 4| - pa
— = 3 *‘? S dmEy
I |24 | 325
2-M6x12 014G7x3 \8-@9HTx2.1 ﬁ‘ 45 J g
1
4 4 }
| 1
© ©
£ < %o | | Tg
Standard © ©
105
<
FERRME A B C D

100W 14 45,46 M3/M4 54
200 W 19 70 M4,M5 60
400 W 19 70  M4/M5 60

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

AIMT25-LG2-LNRB-D E?ﬁ&iﬂi%iﬂﬁ%%% wide guide Solid Shaft right backward direct installed FRA1L v mm

T=372 + STROKE

48 83.5 T{E&E L =109 + STROKE 48

68.5
109 —
40

P@ ﬁ%@ © é@@w\ © AK ’

T 1 )
D7% 2-M6x12/ \M 8-G9HTX2.1 Ao 5‘ N

45 =

67

©
I
+
N
N
<
63
528
25

&
1184
3.
[&
e
T
105 32

45
&
<

|

40

105

©
©)

< A B C D
[o—— 100w 14 45,46 M3/M4 54
200 W 19 70  M4,M5 60

400 W 19 70 M4/M5 60

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




ZCINT

y . - ES{i[ unit: mm
LNRB-P &% S 5 RS2 225 high quide Solid Shatt right backward parallel installed BT

195
3
BETRE
\@
T{F#5ME L =109 + STROKE 835 48
109
40 4-M4 L
N [ 1]
|
At
® £ 3 o A @ T 1
© 6# $ \@\ © [©)==i S35 ® e
] ° R
t T T i . % ‘ T ‘
325
d 26x12] 14673 \8-B9HTx2.1 ‘ 2% a " o 4
- T=372+ STROKE < ‘ &1l
D
4MC
Y
1
s ] iz
I \ PCDB ] %@/
o ol
\_//_\
105
A B C D

100W 143 45,46 M3/M4 58
200W 149 70 M4,M5 64
400W 149 70  M4/M5 64

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

AIMT25-LG2-LNRB-P A HE S 8 EER5E wide guide Solid Shaft right backward parallel installed B unwc mm

32
N
T{E46E L = 109 + STROKE 835 48 B

109

I 68.5

4-M4
. L
1 -

e 14| OT

3 17 i
3
; — ; nalll B SR
! — !
J 2602 214673 \8-09HT:2.1 . 35 | ] 7
= a— q L g
& 16
T=372+ STROKE
D
aMc
N
1
© © [ ﬁ% _
: PCDB ] %@/
L
A B C D

100W 143 45,46 M3/M4 58
200W 149 70  M4,M5 64
400W 149 70 M4/M5 64

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




BB unit: mm

T=372+STROKE

48 83.5 T{&5[E L=109 + STROKE 48
109 195
BERITA 4 414 -
Precision alignment s
[ 1] q
| alt
@ S — Ny * * 3 o M T s
5, o 4 odw © =i Sk ol | s
;J S * AN * S :_;J o
2 — 7 ﬁ T T\
22 ] 24 ] 325
26312/ P14G13 \8-BIHTR2.1 Q{ e N 9
S =
. _o8he

Standard

S m.I ij* e % i%

105

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

AIMT25-LG2-LNRD A 13I&H N AT wide guide dual Solid Shaft standard FRA1L v mm

T=372 + STROKE

48 835 T8 L= 109 + STROKE
109 685
38 40 4M4 46
2% = I ‘ H ml
i o i 4 s @ wuzigk LG ; N
@l5e o ¢0% °o___oh b P | b
< |® R4 4 | <
. =] — E | ol G
= 24 | 325 | T
2612/ 014673 \8-@9HTx2.1 e 5 g‘
8hs
a4
1
@ @ 1
o ]
4
8h6
105

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




ZCINT

BB unit: mm

AIMT25-LG1-LNRD-D A 1HI%€ Him=# B %EE high guide dual Solid Shatt direct installed

T=372+ STROKE

48 835 Tf#BE L= 109 + STROKE m
109 795
40 4M4

7

hd | T\ &
© d é @ © =) i of | '
E:2 @% E:2 L Q @ @& < ?
L T 1 T
2 1
2-M6x12 @14GTx3 \8-@9HT7x2.1 4 222 ‘ <J )
O

— BEREME
<

© © BEREILAL
4MC
@ o ™~
PCD.B
2N
(Y

D Stenderd

<

52.8
325
67

18.4_|

L4

6.25

10.5

40

Wz

g8h6 Il e
105

Feal]

A B C D
100W 14 45,46 M3/M4 54
200 W 19 70 M4,M5 60
400 W 19 70  M4/M5 60

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

BB unit: mm

AIMT25-LG2-LNRD-D 1% #7281 B 1% %5 wide guide dual Solid Shaft direct installed

T=372 + STROKE

48 835 T {8508 L =109+ STROKE @
68.5
. %
A-Vg ‘ H
o
g
i M * * 3l o A\ @ %Eétis
&) Ho ol oY ° D= an A | o
PN 2 ] e — 1/ # ;J | | 2
] b ﬁgz T % !
N— 24 5
0 2160 G14GTX3 \8-BOHTx2.1 = 4 - g‘

EERENE
—
© © EEREI(L
@ o B

PC.D.B \
51

40

[mjm

5.
=l

@8h6

105

A B C D
100 W 14 45,46 M3/M4 54
200 W 19 70  M4,M5 60
400 W 19 70 M4/M5 60

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




%fﬁum‘ mm
1115
L 2
4MC
| 4
N %@g BEREME
\@&%L b8 T{F§E L= 109+ STROKE a5 m
- 109 57
40 4-M4
b ‘ | | 1] B
‘ | ‘ B . i}
& \ A4 A4 3 | |« \rj 5
D g @ ‘ © ©E S — N & © =
;J PN ‘ ° - ;J m‘iﬁ} 4 A
J ’ . ‘ L35 []} D)
21 ] 4 aerd]  louens \egemon - - " d E
1
24n i ]
Standard
osh [ oy il
105 A B C D
e 100W 143 45,46 M3,M4 58
200W 149 70 M4/M5 64
400W 149 70 M4/M5 64

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

BB unit: mm

AIMT25-LG2-LNRD-P A 18I&E H B =80 32 22 2E wide guide dual Solid Shaft paralle! installed

1005
D 3
4-MC
| 4mMC
%%@\/ /%§§§§1ﬂ§
\@& L] T{E§E L= 109 + STROKE 335 48 [
CDB
109 46
4 -4
[ 1 -
&/\& ® * Al | | ¢ %1 ~
&) o © @ QE @ © o 6} 0 o
j PN vL ; ° v?l 79 L
- T . ] I . = - ) ‘ \‘ W
5
2% 4 20600 Q14673 \8-QIHTx2.1 ‘ 2% . 5| E
!
A4 A4 }
)
410 —
—|_e8he
| 105
T=372+ STROKE A B C D
100W 143 45,46 M3/M4 58
200W 149 70 M4,M5 64
400 W 149 70 M4/M5 64

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.



ZCINT

BB unit: mm

NEAR high guide Solid Shaft left forward leftstandard standard

T=372+STROKE

48 835 T /R4 L =109 + STROKE m
109 795 -
40 4-M4
1] B
I [
2 N @ g o 14
Q © @E 3| o I
3 ! 4 e#[ A
& ~ i i . g T + i S
.24 | 24 | 05
2-M6><12/ 014613 \8-@9HTx2.1 m‘ P J 9
w —
28h6
EE|

105

AEAEEHRSERAE, BERTELBRRREM“22D/3D

A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 8D drawings provided.

BB unit: mm

2-LFRN E%‘T @L%$§:‘J wide guide Solid Shaft left forward leftstandard standard

T=372+STROKE

48 835 T{F#E L =109+ STROKE
109 685
38 40 44 e
2x4-M4 = — [l N
N [ S& . 7
& * & o2 =
é \Q © @@ ] 2 ] o
3 s\ o[ |
= i T = i + “ V)
= g 24 | 325 | T
2:M6x12 146Tx3  \8-09HTx2.1 o I N

105

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




BB unit: mm

T=372+STROKE

48 835 TfR#5/E L =109 + STROKE o
109 79.5
40 4-M4 57
L[]
o
N % | ol
1\ © A4 o |
b ¢ %’5 D 8 o o @ SEE ANRAE
cj ° ° ) o ” L, |, )
L T 1
z ' o [ L35 | ‘T‘ )
2M6x12 QL4GTX3 \8-Q9HTx2.1 o B 5 < 9
FEREIE
T ERREA
(<C|
@ © eMC
o PCD.B )é §
T e
@ o
HAR n ® } o K ~
Standard ‘ “ < & @
oD
EL ig
A B C D
105

100W 14 45,46 M3/M4 54
200 W 19 70 M4,M5 60
400 W 19 70  M4/M5 60

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

AIMT25-L.G2-LFRN-D 7z 5] tHAH S BB 1 22 wide guide Solid Shaft left forward direct installed FRA1L v mm

T=372 + STROKE

48 835 T{F#5E L =109 + STROKE 8
109 68.5 T
40
T
™ ‘”l
° ° ® * g o M %:h
N Ho © gé@?@ © @@ N 55 ] Ch
;J PN [ e — Y s\ s j |
= . - e
# [ | 05
2-M6x12 14G7x3  \8-@9H7x2.1 ) & 45 )
0f © =

BEREIL

40

4-MC

BERE(E
<
HMC
PCD.B ; f

—A
° P %
==

105

A B C D
100w 14 45,46 M3/M4 54
200 W 19 70  M4,M5 60
400 W 19 70 M4/M5 60

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




ZCINT

o - - ES{i[ unit: mm
-LFRN-P 7/ #ij HH 3= 8 RS Z2E high uide output sharft left forward parallel installed BT

0 1115

79%% | —mEsRaE

T{F#E L=109+ STROKE .
4 835 feRiE _—" %@/

109 57
4
< 4-M4
[ [T .
& < + * ﬁ% - ]
©) é $ \@ © [©)==| 8k, T 3
E-TJ - & AN I ° + ;J 53 of ° &
T T I : At
24 L Tt +
2:M6x12 louens \soomno1 o 2% 325 | T‘ D)
S 9 5 |7 3
1
& & }
I I
EL ig
105 A B C D
T=372+ STROKE

100W 143 45,46 M3/M4 58
200W 149 70 M4,M5 64
400W 149 70  M4/M5 64

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

AIMT25-LG2-LFRN-P - 51 H S B H EIH Z 2 wide guide output sharft left forward parallel installed FRAT vt mm

100.5

ff e

@
T L =109+ STROKE
a8 835 FE —— %@/

109 46
40 4-m4
: 5 [ 1 N
$/ ° ° A @ 2 ] ® %.\
© © é @ @ © @b = ] B
PR ) . L ‘ Dy | 1, | L]
-2 J ‘ L L35 |
2612 QL4GT3 \&-QOHTK.1 o 2% _ i . d 3
1
< & }
L |
105 A B c D
T=372 + STROKE

100W 143 45,46 M3/M4 58
200W 149 70  M4,M5 64
400W 149 70 M4/M5 64

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




ﬁhfﬁﬁﬁﬁéﬁiﬁ I;ﬁ fo EU. TOOTHED BELT AXES LINEAR ACTUATOR

BB unit: mm

EELZNTY high guide Solid Shaft left backward standard

LBRN £

BITTYNE

EAE
Standrd

B 5RE

T=372+STROKE

AEAEEHRSERAE, BERTELBRRREM“22D/3D

2-LBRN E?ﬁﬁdﬁ&l%iﬂ%ﬁi@ wide guide Solid Shaft left backward standard

‘ Q%@M@

105

T=372+STROKE

48 835 TfE45E L =109 + STROKE m
109 795
40 404 57
[
e
REINE
4 4 + + 3 o [
© é $ \@ oH fer) & S ° o4
j @ + AN + Y j /L
= i i = S
24 ; 24 | 325 i
26112 P146Tx3 \8-BHTx2.1 m‘ | e | L E
< | =2

A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 8D drawings provided.

BB unit: mm

4 835 TfE800E L = 109 + STROKE
109 685
38 40 4-M4 46
33 H
2414 S@\ .
IS NN s e g * %’5
Dl o ¢dw R, @ 34l | 1A
- N » 3 ¢« “ |
) — b + | 47 G
“ / ‘ .24 | 325 i
2:-M6x12 P146T3  \8-DIHTX2.1 9 e Il E
o —

g
o8h6 | |

105

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




ZCINT

BB unit: mm

AIMT25-LG1-LBRN-D 7= & 8l = 8L B 132 222 high guide Solid Shaft left backward direct installed

T=372+STROKE
48 835 T{FE5E L =109 + STROKE 4

109 79.5

40 i 44 2

PC.D.B

) - ==l
oy i ) =N »5% ST
)

H | &
= 2-M6x12 @14G7x3 \8-@9HT7x2.1

63
52.8

67

18.4
&
&

‘ 325 T

45 "T

10.5

40

105
BERE(E A B C D

100W 14 45,46 M3/M4 54

200 W 19 70 M4,M5 60
400 W 19 70  M4/M5 60

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

BB unit: mm

AIMT25-LG2-LBRN-D /£ HEEEN B L2 wide guide Solid Shaft left backward direct installed

T=372+STROKE

48 83.5 T {F#3E L =109 + STROKE 48
109 s
40 4-MC .. g
PCD.B
@ -7 ‘ H
+ » T % > B . fim:l
M Ho © é@@\@ © RN\ Jd S = Al
;J o\ o L AN [ & g e
T 1
24 i i &
262 PUGHE \8-BHTX2L + m‘ i \J%:
3 45 3
1
R & } w0
[ \
g
105
[<C|
A B C D
EERENE T

100w 14 45,46 M3/M4 54
200 W 19 70  M4,M5 60
400 W 19 70 M4/M5 60

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




i

Standard

T{EH3ME L =109 + STROKE

184_

48 835
109
40
N =r 9 b ok
e\ o Q
I T 1
24 f 1
2a6x12] QUAGT3 \8-Z9HT2.1 o

T=372 + STROKE

©

[

—

105

BB unit: mm

79.5

32

BEZRUE \

A B C D
100W 143 45,46 M3/M4 58
200W 149 70 M4,M5 64
400W 149 70  M4/M5 64

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

AIMT25-L.G2-LBRN-P. /-7 Hi 8 5 9 B3 222 high guide Solid Shaft left backward paralel installed

48

83.5

T{EHAME L =109 + STROKE

109

40

BB unit: mm

1

$dE

24
2-M6x12 G14GTx3  \8-@9H7x2.1

T=372 +STROKE

10.6

105

17
32
EERENE \
)
46
4M4
< 1 ;
4| i G
| 21§
piE=lE 3
3 45 ~ 3
D
4-MC
Ny
PCDB | %@/
\_//_\
A B (0] D
100 W 143 45,46 M3,/M4 58
200 W 149 70 M4, M5 64
400 W 149 70 M4, M5 64

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.



ZCINT

BB unit: mm

% %@L%ﬁ’_ﬂ high guide left dual Solid Shaft standard

T=2372+STROKE

48 835 TEE5E L =109 + STROKE 28
109 795 T
40 4-M4
1] -
@ $ @ s 78’\ * qu
\ @ N
Gé ®\ ) o0 (o e of | 48
%I M L s P %] s | s Gj
T 1
# | 24 | 325 i
2-M6x12 014GTx3 \8-Q9HTx2.1 ﬁ[ ! - J E
— —

@8h6.

i

% JE‘@@

105

AEAEEHRSERAE, BERTELBRRREM“22D/3D

A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 8D drawings provided.

BB unit: mm

2-LDRN Eﬁ‘lﬁ ﬁ?&ﬂ%ﬁﬂ%Nﬂ wide guide left dual Solid Shaft standard

T=372+STROKE

48 835 T {FHGME L =109 + STROKE
109 68.5
38 4 44 =
s — NN
) ‘ x| el
o 9 4 4 g o RS
{2
Dlee o 9w °o  oh @ 3 3
j LS S o \§ $:I
g — 3 %7,
2 ] 7 !
aMed2|  |046T3 \ 809HTL m[ L35 | T N
o 45 I~ =
oshe
)
1
& © }
I \ =
@8h6
105

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




BB unit: mm

T=372 +STROKE

48 835 T{EME L =109 + STROKE 48
109 795

40 4-MC M4 57
D [ [ 1]

°

;J * o < — ¢$\®\ — ©F&

Il |
24
2-M6x12 14GTx 8-@9HTx2.1

nd hd
25 || H

U g
L )
63
52.8
=
&
-
D
32 |
67

6.25
&
4 |
10.5

I

@8h6 |
|
RE]E
1
< & } 2
o] [ ‘
Standard T
Lor 9 =
105 c £
< A B C D
FERRUE 100 W 14 45,46 M3/M4 54

200 W 19 70 M4,M5 60
400 W 19 70  M4/M5 60

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

AIMT25-L.G2-LDRN-D 7= {RIIEE H B = 81 B 122225 wide guide left dual Solid Shatt direct installed FRAT vt mm

T=372+STROKE

48 83.5 TfFE6E L =109 + STROKE 4
109 .
40 4-MC 46
PCD.B . BE
L
D — ja
* * 1 4G :
M Ho ® é{@@ © A )\\D PR e
;J PNy E— \ i \_\\\ N o
— T adJiox
2
erexu/ P14GTX3 \8-B9HTX2.1 m‘ 325 | =
4 o 45 3
@8h6 o
REIE
1
R & } o

40

105

] A B c D
T [<C|
EERELE ~ 100W 14 45,46 M3/M4 54

200 W 19 70  M4,M5 60

400 W 19 70 M4/M5 60

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




AIMT25-LG1-LDRN-P {81 €5 H Bl = 80 FE 12 22 high guide left dual Solid Shatt paralle installed

ZCINT

BB unit: mm

795
2 3
BEREE \
48 835 T{eEE L =109+ STROKE 5
109 .
4 - 4-M4
[ 1]
*® ° 89 ES /LJ
i \@ o g [N ST
D o d #9 oH d 43 177 s
;J e\ ¢ A\ 3 1A
L T 1 4?
2% ? : 9
2612/ loucra \soono1 J ‘ 325 | J ‘ .
=l W 45 =l
T=372 + STROKE - <
D
8h6
T 4-MC
NERI= Nz
| pcDB _IF
A R ENZ
| 1
i}
Ll A B @ D
100W 143 45,46 M3/M4 58
200 W 149 70 M4, M5 64
400 W 149 70 M4, M5 64

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

AIMT25-L.G2-LDRN-P 7= {81 = 8 45 2248 wide guide left dual Solid Shaft parallel installed

BB unit: mm

1
D k)
BEQENE
\@
a8 835 TYEHIELL = 100+ STROKE
109 46
40 4-M4
b [ ] "
Al
° ° 3 89\ MERRTN
D ﬁ@ © gé QE \Q @ﬁ & 7 ] N
< lo S
SJ 2 — *T T 19
05
262 QUGT3  \SDHT2.1 o m‘ - = o
T=372+ STROKE = D
@8h6 B 4%79%
PCDB ]
‘ Nz
& © }
\_//_\
|
105
A B C D
100 W 143 45,46 M3/M4 58 T
200 W 149 70 M4,M5 64
400 W 149 70 M4,M5 64

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




25
40
63

206

—

BRES mEAEBILES

EU. TOOTHED BELT AXES LINEAR ACTUATOR

AIMT 40 -400- LN RB

&b KL 712
Toothed Belt Axes  Size () Stroke ()

BIEIE optionas @ I No options

Motor Power (W)

FEHE

Torque (Nm)

BRI

Toothed Belt Size (mm)

SEERE

Rep. Accuracy (mm)

FHEE

Toothed Belt Size (mm)

RERE
Max. Speed (mm/s)

71280

Stroke Range (mm)

SRITENSHEE

Per Meter Stroke (kg cm?/m)

SRATEHEHEE

Per Kg Working Load (kg cm?/kg)

BARIE s

Max. Load (Kg)

LEaHNBHR ERERZEHBERIERRAGEBERN Above load torque curve, the loading should be within the maximum load range

Direction Direction

R

No Shaft No Shaft

(P PR g B p

Forward Forward
i3 B
LB Backward RB Backward

D 28 gy 2@

Two-way Two-way

200 /400 / 750

0.64 7 1.27 /1 2.39

HTD8M - 25 x 5

+0.1

63

5000

1...4000 / 100 R Pitch

0.45
2.53
K
Horlzontal
giliE:y
Sidehang

D -M400- S3

ERLESE ARILHEE  BERRMLE BiEE FARIER
Left Solid Shaft  Right Solid Shaft Motor Postion Motor Power W) Number of Sensors

mERE |y =2 a2 g o1

Direct Mitsubishi Deta 3x Sensors

Mgme o AT o B g nEEH

Parallel Panasonic Others nx Sensors.
vy I
Veskaa
200/ 400/ 750
Fyo
F2
LAy
Force and torques My ()
My (vm)
Mz (N.m)
L (em?)
ERE_RE
2nd moment of area
Ly e

Omm{ TR ARESE

Basic Weight for Omm Stroke (kg)

S100mm{TIZIEME R
Additional Weight per 100mm Stroke (kg)

- Tk RR

Proximity Sensor

67.3

74.8

5.42

0.45

CS1-M-1M B2 1K

1m Contact Type

CS1-MN-3M EAEEENPNAL3K

1m Contactless NPN Transistor

CS1-MP-3M £EAEREPNPEL3K

1m Contactless PNP Transistor



ZCINT

AIMT40 EAE! stancard

BB unit: mm

T=569 + STROKE

67 132 T{R#E L= 171+ STROKE 67
171 )
2065 | 10 @10H7
‘eb\wiza/ o— 4-M5 jj

/3,

B

I
LJ‘—??T‘

171
45 40 45

24.5
30

N L LV/IEE
2 .5

Advarce guide

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

E}%ﬁg motor direct installed

BB unit: mm

T=569 + STROKE
67 132 T{F%E L =171+ STROKE
171

2-%6.5 () @10H7

T e f
e 3

67

2
N

¢
I
;54,]ik45944,

49 |
| = I
BEREE

\ =
171 8

45 40 45
L3 L3 \\0 L3 %

400 W 11 70 M4, M5 75
750 W 21 90 M5, M6 80

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




%{ﬂ Unit: MM

ard

L

Advance guide

T=569 + STROKE

4-MC D
N
T{F#EE L =171 + STROKE
e PCDB A =
2-06.5 70 GLOHT
S
\ T
® /\@
S+
U
S =
171
45 40 __ 45
L2 L2 \()\ L2
\4-M6 x 8.5
67

[ ?&iﬂﬁ%
a
\J_L\
4M5
W | ek
d SEF
H—{1—49
— Lfer.\ .mj
A B C D
400 W 196 70 M4, M5 74
750 W 204 90 M5, M6 84

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




BREY FEABILES AT

EU. TOOTHED BELT AXES LINEAR ACTUATOR

F:

i
AN,

AIMT 40 -400-LG1-SS1 - LN RB - D -M400- S3

&b KL 712 1) MBEVEEHE  ERLEAR GRLEEE  BERRLE BENE FRH
Toothed Belt Axes Size (mm) Stroke (mm) Guide Type Number of Side Left Soiid Shaft ~ Right Soid Shaft Motor Positon Motor Power (W) Number of Sensors
Direction Direction
=8 1 (8B EHE Fiduati BEERE =% 1 AE 3 {ElFERA
LG H\’g;] e ST g N owar AN Nosnan b et R s L Dog;: S
= oy il ETI 228 \
B B @il 2 e QR Je
p p 2|
L8 Bg?klfm RB Blzjfam Y iﬁ:z‘
L 2@ gy 2B 200/ 400/ 750
y Two-way
BIEIE optionas @ I No options
BEET B 40
Motor Povier (W) 200 / 400 / 750 ) 7300 :
R F 7300 o
RE N
L, 0.64 /1.27 / 2.39 :
133
AL}
ERa My (N.m) 170
Toothed Bt Sire (mm) HTD8M - 25 x 5 L 0
5 8 11 13 16 19 22 24 27 30
N oy - Lx -l = Ly fROBE E (cm)
BT i My cel
Rep. Accuracy (mm) -
e M, (N.m) 330 B 40
RS EE 63 ) =
Toothed Belt Size (mm) ﬁ
. L (om') 190.8 o
RERE 5000 EE_RE
Max. Speed (mm/s) 2nd moment of area 133
Ly o) 87.5 k
TEEE _
Stroke Range (mm) 1 "'4000 / 100 R Pitch Ommﬁ&%ﬁi%% ! 5 8 11 13 16 19 22 24 27 30
Basic Weight for Omm Stroke (kg) 6.93 - o = be ROEE Cm)
SXTRNBEES 05 -
Per Meter Stroke (kg cm?/m) . S100mm{TIZE NEE 0.81
Additional Weight per 100mm Stroke (kg) : ’g; 700
SAraHBHES WY =
Per Kg Working Load (kg cm?/kg) 2.53 CS1-M-1M ﬁgﬁfm * @
1m Contact Type
T 15,20/30  BAsEnoR0 CS1-MN-3M SEABEENPNELS K 3
sxaHiE 50 orizontal Proximity Sensor 1m Contactless NPN Transistor
Max. Load (Kg) e w 0
Rl 10 /15 /20 CS1-MP-3M £EAEREPNPEL3K
Sidehang 1m Contactless PNP Transistor - Lyz RO E (cm)

LEaHNBHR ERERZEHBERIERRAGEBERN Above load torque curve, the loading should be within the maximum load range




5 LINEAR ACTUATOR

ERRE S B EAREILEE fU. T00THED BELT

BB unit: mm

NEAR high guide Solid Shaft right forward standard

T=569 + STROKE
61 T {458 L = 171 + STROKE 132 67 101.9
171 699 |

@25G7x3 8-M6x12 8-@9HTx2.1 4-M5

!

= : -
9K\$ o o o 3 § o o Q/\$ 853 o
;{ o\ | Je \ 9&" i ‘e\ [

3
40 | 40 | 40
161

.5

Y20

%
2]
L
Lo
ILZT 55

105

Bremng @15h6

]

EAE \
Standard ‘ -M6 x 8.5 ‘

L D%Ef:” ;

A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 8D drawings provided.

AEAEEHRSERAE, BERTELBRRREM“22D/3D

BB unit: mm

LG2-LNRF E%‘T ﬁiﬁﬁﬂgz’sﬁ wide guide Solid Shaft right forward standard

T=569 + STROKE

67 T/E&6E L =171 + STROKE 132 67 9
171 59

025G7x3 8-M6x12 8-@9HT7x 2.1 4-M5

\ [
i gl
T o *59\ oL S5
® ® & o ® g 2g
© © ® @ e’» © l e
S
& | !
40 40 40 | 64 .,J
167 B J oo
E
__@15h6
" 171
B 4 2 45
® LK 3
4M6x85

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




ZCINT

BB unit: mm

= HE%?’% high guide Solid Shaft right forward direct installed

T=569 + STROKE

67 T {E#60E L= 171 + STROKE 132 67 101.9
171 69 |
@25G1x3 8:M6x12 8-09HTx2.1 45
\ ] [T =
[ [ 1 l
S &
® ° & S S o \ |
AN © ° @g t B o= (| =k ol | g
- A Q4 £ IR
J w ‘ % 45 ]
.34 | 40 ‘20 40 | ) 64 o
167 o a
BEREME gl
< ]
g 1
45 40 45
o @ \G\ -3 L3
‘ 4MEXBS |
A B C D
400 W 11 70 M4 M5 75
750 W 21 90 M5 /M6 80

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

BB unit: mm

AIMT40-LG2-LNRF-D 75 ] tHBH B &\ B 1 22 4E wide guide Solid Shaft right forward direct installed

T="569 + STROKE

67 T{EHEME L = 171+ STROKE 132 67 91
171
025G7x3 8-M6x12 _8-@9HTx2.1 4M5 32
! L[] i
P P AN l \ ° e%
So o) © @5 © © 8« |
() go © o @é ® &9 ® © NS 9
RI ° ° ~[ L
i hd
J 3 I !
34 40 40 40 " 64 B
167 = e
/,%1?%%@% =
< ]
& 171
45 40 45
3 @ \}3\ @ @
4-M6X85
- ]
A B C D T
400 W 11 70 M4, M5 75
750 W 21 90 M5/ M6 80

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




5 LINEAR ACTUATOR

BB unit: mm

SN R L high guide Solid Shaft right forward parallel installed

141.9
D /A_Mﬁ 40
/%‘éﬁéfﬁﬁ
ex)
%\/@ N.PCDB T{EGE L= 117711+ STROKE 13 67 695

@25G7x3 8-M6x12 8-@9H7x2.1 4-M5

B \

& é s s 2|k \
DY —— %9@% ¢ =D

L3
/ ; = ol n
3
# o\ o\ | Je :[ 7
; | Tt ¢ %
g i 34 4 [T !
40 40 40 ) 64
= o 167 = 4 &
Bremng 171
Spindle axes internal 45 40 45
N\
@ é‘ -4 @
9Nl ‘ 4-M6x 8.5 ‘
Standard il T
HE R P
67
T=569 + STROKE
A B C D

400 W 196 70 M4, M5 74
750 W 204 90 M5, M6 84

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

BB unit: mm

ﬁm%éﬂ%ﬁ?ﬁii—ﬁ wide guide Solid Shaft right forward parallel installed

131

2 [ AMC 40
J e
o
NS N T If’Ef@EILﬂ?rSTROKE & -
50
lp2sG1x3 sM6x12 8@OHTXQ1 45
) | ! RSN
o ® dl | HT
© © d © &l | m
] © © et ® ® J» © N e a9
o
R e hd W
HL 4 ]
40 | 40 | a0 ,n_ & d
167 ~ I
=
171
45 40 45
@ \9\ @ L3
4M6x85
67
T =560+ STROKE
A B C D

400 W 196 70 M4, M5 74
750 W 204 90 M5, M6 84

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




ZCINT

p BB unit mm
LNRB A& H B E AR high guide Solid Shaft right forward standard "

T=569 + STROKE

67 132 T{E&E L =171 + STROKE 67 1019
171 69.9
8-@9HTx2.1 8M6x12 @25G7x3 4MS
[

| [T
— — JR R
21%9* © © o8 /| Ao

® ®

k3
©)
s
©
©
@ —@-{ |

.
®
rs
(
N
@
21 |

‘ re hd h
34 | L4 71

0 a0 |« - mJ 64 4
167 =~ e
171

45 40 45

R R f{ k]
4:M6x85 ‘

@15h6

AEAEEHRSERAE, BERTELBRRREM“22D/3D

A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 8D drawings provided.

LG2-LNRB E?ﬁ&ﬁ&l%iﬂ%ﬁi@ wide guide Solid Shaft right forward standard FRAT vt mm

T =569 + STROKE
67 132 T {E&BEIL =171+ STROKE 67
171 o 90.5
8POHTx21  B-M6x12 025673 S 383

‘ ' 8/M6x12

e © @ ® nN°
s ¢ ol 4 ANELP

40 40 40 34
167

96.5

[&
e
[

/
@
TN
©0
©0
©0o
©0
© 0O
@
86
718
. — —
/V
&>
M5

o
R
15 ]

105

171
45 40 45

° 3 G{ -3

4-M6x8.5

315h6

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




EAFBINE

Spinde ax

i

Standard

EEY

A

AIMT40-LG2-LNRB-D A% S BT wide guide Solid Shaft right backward direct installed

T =569 + STROKE

BB unit: mm

T{F8IE L= 171+ STROKE 67
171 . 1019
8-99H7x2.1 8M6x12 @25G7x3 M‘sﬂ
= | L~
® © < o
¢ ¢¢° T 2 (T % N
@ @ 2
Ll e | e
_—— 3% [\ 2 || | i
| 64
167 = 4 :
171
45 4 45
k-3 k-3 j{ 9
‘ 4-M6x8.5 ‘
g
A B C D
400 W 11 70 M4 M5 75
750 W 21 90 M5 /M6 80

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

T =569 + STROKE

BB unit: mm

AFML\ 585

s

67 132 T{EHIE L =171+ STROKE 67
17
8-@9H7x2.1 8-M6x12  @25G7x3
| |
© @ @ © ©
) @ St ) ©
/
a0 [ 40 | 34
D 167
171
45 40 45
3 L3 L3 /ﬁ/ o
4M6X85
< A
BEREUE 400 W 11
750 W 21

¢ 6 %

"Jﬁ 4 T ﬁ

o 64 ﬁ[
B C D

70 M4, M5 75
90 M5, M6 80

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.



ZCINT

y - ES{i[ unit: mm
LNRB-P % H #H =8 1 Z2E high guide Solid Shaft right backward parallel installed BT

104
D 40
FEREME
)
I%ﬁ“{ e 12 2 1019 V]
- 699 |
8-P9H7x2.1 8M6Ex12 @25G7x3 4-M5

h L] \

[TTT
— ‘ . R — @ G}u}
© © j ég 55@ © © ) /\ o %
D D D L® @\J@#

40 40 40
167

@
36
718
49

5
R
15 |

T=569 + STROKE

D 4-MC
61 171
45 40 45
L3 L3 9/ -3
/£ NPCDB
4:M6x8.5

A B C D
400 W 196 70 M4, M5 74
750 W 204 90 M5, M6 84

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

y - - BB (L unit: mm
AIMT40-LG2-LNRB-P A HE S8 EHER5E vide guide Solid Shaft right backward parallel installed "
D 104
40
EERENE
=}
T/F§8E L =171 + STROKE 132 67
171 s
8-09HTx21  8-M6x12 @25GTx3 4M5 585
<
f [T
I | €
He 4 ¢
e ¢ fofP ] 2 2 EAY i
© © © (©]m| s |
o e Ve 2. Rl = Aq
s hdlE %
2 2 40 A ‘ Lo | !
167 2 &4 d
S
T=569 + STROKE
67 171 > 1AM
45 4 45
® ® /e{ ®
4M6x85 B N2CDB
A B C D

400 W 196 70 M4, M5 74
750 W 204 90 M5, M6 84

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




BITTYNE

i

Standard

B 5RE

LG1-LNRD &1l

EU. TOOTHED BELT

Hi

gil

high guide dual Solid Shaft standard

T =569 + STROKE

5 LINEAR ACTUATOR

67 132 TfERE] L = 171+ STROKE 67
171
SPOHTx21 8M6X1D B25GTx3
I 1’ |
° s & e ° °
( ) © © 6 e ﬁ{) - 4R
T LW
(34 |
40 40 40 34 |
167
15h6
= 1M
3 45 4 45
-3 L3 ;{ R
4M6x8.5

A4 ] !

AEAEEHRSERAE, BERTELBRRREM“22D/3D

AIMT40-LG2-LNRD & {AI&H

22! wide guide dual Solid Shaft standard

T =569 + STROKE

BB unit: mm

101.9

69.9

86

] 718
|
]

s
m_j

.55 —
96.5

s
¢
o1

105

A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 8D drawings provided.

BB unit: mm

6, 132 T{F4EE L =171 + STROKE 67
w5
171 4M5 585
8-@9H7x2.1 8-M6x12 @25G7x3
! | -
J |
S @ 3 o TR ° QE(
7\ RE -V i
© © @ ® @ Yo © © eg || g
T & SIS |5
.4 | !
= 4 40 40 = 3[ 64 o
167 9 -
©15h6
171
9’| SJ 45 40 45
9 L3 f{
4M6X85

30
FILS

j |
91506

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.



ZCINT

AIMT40-LG1-LNRD-D A8/ Héh =8 B3 L2 high guide dual Solid Shaft di B urwc mm

T=569 + STROKE

61 12 TfFRE L= 171 + STROKE 61
171 1019
8-09HTX2L  8M6X1) @25GT3 I
= | [[TT_ N
® ) © © 3 0=
© ! ﬁ% o o ol (| ISk o | el
D @ @ D @\\J@ '\l || mg
: 3 e ¢
40 | 40 | 4 . 4 T ‘
D 167 ~ 64 e 2‘
il i B
@15h6
ﬂ 171
3 ||| 45 40 45
T
3 -3 -3 /G{ @
4M6x85 ‘
{ |
) g
< J
BERRE A B © D
400 W 11 70 M4, M5 75
750 W 21 90 M5, M6 80

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

BB unit: mm

AIMT40-LG2-LNRD-D Al H i, 51 % 4E wide guide dual Solid Shaft direct installed

T =569 + STROKE
67 132 T {EHiE L =171 + STROKE 6 o

7 !
8-09HTx2.1 8M6x12 @25G7x3 T —

Vo (1 B

©0
el

o R oL G i
@/ {@ © © Gk
E @) ® L) © © [ ] m§
N e hd
o b
PCDB 40 2 2 = ”‘[ = o
L 167 ~ d &
— -
015h6
‘:J 171
B *"ﬁ_ 45 40 45
3 -3 D f{ -3
4M6x85
< \
BT
EEREUE A B c D T
400 W 11 70 M4, M5 75
750 W 21 90 M5/ M6 80

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




5 LINEAR ACTUATOR

BB unit: mm

& i = 81 RS B2 22 high quide dual Solid Shatt parallel installed

D 104
)
EERENE
=
T{feE L = 171 + STROKE 132 67 1019 b
171 0.9
8-@9HTX21 8:M6x12 @25GTx3 4M5
’ L] | i
@ S b BN M N {
® g do
B B é g{© © © o8 1\ Tji o| | g
® ® ® ‘leo ‘?\\J p :I | | e
‘ e L el Tro
3 29 |1 !
40 40 40 9 64 -
167 a 9
o g
T=569 + STROKE
BFEHNE 51— g15h6 c
Spindle axes internal D 4-M
j 171
L 45 40 45
9Nl o o P4 o J
Stendard £ g N_PCDB
4M6x8.5
BoEy = _
lg
A B C D

400 W 196 70 M4, M5 74
750 W 204 90 M5, M6 84

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

BB unit: mm

AIMT40-LG2-LNRD-P {8 & 228/ fE45: 245 wide guide dual Solid Shaft parallelinstalled

D 104
40
BEREMNE
b
TF&5E L=171+STROKE 132 G I~
90.5
17 |
8-G9HTx21  &M6x12 @2567x3 HE £
b | [T
I
: o 7 PR i
© ? é@ {@ © © © IS
© © © o G
= ® J ® ) = QKJ N RI | || g
e ¢ %
s ] i
40 40 40 2 o 64 o
167 o &
=l
T =569+ STROKE
67
B15h6
% ﬂ 171
< 45 40 45
i |
k-3 -3 /G)/ -3
4-M6 x 8.5
A B C D

400 W 196 70 M4, M5 74
750 W 204 90 M5, M6 84

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




NEAR high guide Solid Shaft left forward leftstandard standard

T=569 + STROKE

ZCINT

BB unit: mm

45 40 45

L2 G{ @

‘ 4-M6x8.5 ‘

AEAEEHRSERAE, BERTELBRRREM“22D/3D

LG2-LFRN 7l

Eﬂ%$§:‘] wide guide Solid Shaft left forward leftstandard standard

T =569 + STROKE

61 13 TfE#El L = 171 + STROKE 67 1019
171 69.9
8O9HTX21  8:M6x12 @2567x3 4M5
= | [T N
1 m R = 59\ ° égr
£ K\e ® o f\ ° 2o
o © ) @ J i o | a4
{ e 909 e L0 L]
‘ H |
3 ‘ 7 = 9
\ 4 | 40 | 40 o 64 o)
167 P
=
915h6
171 o [
38

A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 8D drawings provided.

BB unit: mm

96.5

67 132 T{E#EE L =171 + STROKE a1
59
8-@9H7x2.1 8-M6x12 @25G7x3 4M5
L1
[
- 759\ + %%ﬁ
© ® é_© © © g o
© ® ® ® Lleo © © [l
i hid
:J i o VI
40 40 40 64
167 o :‘J
171 o
45 40 45 S
° ° » °
4M6x85

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




BB unit: mm

T=569 + STROKE

5 ° ° \
° ° o= (| = o
I 7 % D (LA, | 2
C [ [T1

49

67 132 T {+#30E L= 171+ STROKE 67 1019
171 69.9
8-09HTx21  8-M6x12 @25G7x3 4M5
\ ! 1 [[[T
° S 1 ° &
®
f \ o o &

1L._L_55_*_LP‘*5
96.5

7] 1
| 40 1%% 40 |34 | 9 64
K
E iR 3
Spindle ax 171 “
45 40 45
Q ] ;9 Q 3
i
Serdard - 4M6x85 \ = PCDB
oD
A B C D
400 W 1A 70 M4, M5 75
750 W 21 90 M5,M6 80

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

BB unit: mm

0-LG2-LFRN-D 7= a1 Y 3= 8 B 1 222 wide guide Solid Shatt left forward direct installed

T=569 +STROKE
67 13 T {450 L = 171+ STROKE 67 91
59
8-@IHTx2.1 8M6Ex12 @25G7x3 4M5 H
! =
[ S=FOHTw )1 o 6 l
9/ ® ® ® @ 21@ ® ® 8o
T b 9l e | o © il
i b 6,]
34 4 | |
40 40 40 i 64 2‘
167 3
=
171 3
45 4 45
L3 L3 /G{ L3 3
4M6x85
\PCDB

T A B C D

400 W 11 70 M4 /M5 75

750 W 21 90 M5, M6 80

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




ZCINT

BB unit: mm

%@lﬁaﬁ%ﬁ% high guide output sharft left forward parallel installed

141.9
4C D
/,%igiééﬁﬁ
]
67 13 T{E%[E L =171+ STROKE PCDB BT s
171
809HTx2.1 8M6x12 @25G7x3 45
= | | | T
| - o L =
° ® ® Z @ S » o \ f
NG S b 5 e si%) 5 = ="/ SRl I 4
~ [ & / Y e;:l S
J ANy | e
4 i 40 40 40 E *.n*‘ 34 Ik m
4 )
167 o = = 9
171
45 40 45
L3 L3 /9 L3
| #M6x85
g
67
T =569+ STROKE
A B C D

400 W 196 70 M4, M5 74
750 W 204 90 M5, M6 84

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

o : BB unit: MM
AIMT40-LG2-LFRN-P E Bl %%@LF& ﬁ%i’% wide guide output sharft left forward parallel installed "
131
4-MC D 40
o\ /,%éiééﬁﬁ
Lxj
67 132 T{FEEE L =171+ STROKE PCDB \/@/
171 59
8-@9HTx2.1 8-M6x12 @25G7x3 AM5
! 9 L1
: 759\ @ G%ﬁ
=rs s <
o) © © g 2(© © © =MV 8|
m(c} © © o (]| = Sl 3
:{ 9\/92 ® ® ® ) Ee\Je R[ L, NE s
) T @] !
40 40 4 mn o 64 4
167 o = o
171
45 40 45
7
@ L2 }) @
4-M6x85
\
67
T=569+ STROKE
A B C D

400 W 196 70 M4, M5 74
750 W 204 90 M5, M6 84

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




ﬁhfﬁﬁﬁﬁéﬁiﬁ I;ﬁ fo EU. TOOTHED BELT AXES LINEAR ACTUATOR

BB unit: mm

LBRN 7=7% &80 2 787 high quide Solid Shaft left backward standard

T=>569 + STROKE

67 T {F#3E L =171 + STROKE 132 67
171 69.9
225G7x3 8-M6x12 8-@9H7x2.1 ‘Mi
\ ] [Tl =
@ @ ‘ l ‘ @ @ 7&\ ¢ G%i
@5 § @
ME—— 3 8 | =31 9 | 42
5[ . o\ e | oTrd 1
£ 2 |1 i
3 40 4 | 4 - ﬂ] 64 o
167 B
EEgNE o

45 40 45

1

R @ @

HaA
\Tanivd: 4M6x85

L] d o
b @15h6 |__|

AEAEEHRSERAE, BERTELBRRREM“22D/3D

A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 8D drawings provided.

BB unit: mm

LG2-LBRN E?ﬁ&ﬁ&l%iﬂ%ﬁi@ wide guide Solid Shaft left backward standard

T=569 + STROKE

67 T{E#(E L= 171 + STROKE 132 67
7l ’ 905
[02561x3_8-M6x12 _ 8-69HTx2.1 HE i
| ! []1
| I
; 1R o G%f
© [©) @Q ® © ge |
[ © © e &) ® € ©) N ]
o
o L
¢ ¢&
[ | | |
40 40 40 ) 64 B
167 ~ ) _
<l
171
45 40 45
L3 \9 L3 @
4-M6xX85

|
bus ]|
L3 |

@15h6

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




LBRN-D 77 H#h= 81 B3 Z4E high guide Solid Shaft left backward direct installed

T =569 + STROKE

132 67

T {E86@ L =171 + STROKE
171

025G7x3_ 8-M6x12 _8-B9H7x2.1

\ ]

I 1

ol
R4 4
®
(DE SR =
# R4 R4
34 ‘
40 | 40 | 40
167
171
45 40 45
@ \}\ -3 -3 3
‘ 4-M6x8.5
- 3“' ]
g
\ H
EEREMNE
400 W
750 W

101.9

ZCINT

BB unit: mm

69.9

21

70

90

5] | s -5

C D
M4, M5 75
M5, M6 80

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

AIMT40-LG2-LBRN-D =18 tH#hE &\ B 152245 Y wide guide Solid Shaft left backward direct installed

67

T=569 + STROKE
T {Eg[E L= 171 + STROKE

132 67

171
925G7x3 8-M6x12 8-@9H7x2.1

F

!
@@f

& &= H
/1 Be o) o) A o) of
Ho [} © Sl [} of
z[ o\ | /eE A 0\
34 40 4 4 e .
167
171
45 40 45
L3 \éi L3 -3 bes|
4-M6x8.5
\ %
%E?%fﬁg—/
400 W
750 W

BB unit: mm

91
59
4-M5
[ e
759 ° GEYL
R ke
[ﬁ pi
ol o B
A B c D
11 70 M4,M5 75
21 90  M5/M6 80

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




BB unit: mm

R ()" B
D 40
BERRUE
b
67 132 T{E&5E L =171 + STROKE 1009 L
171 69.9
|02567x3 8-M6x12 8-@9HTx2.1 4M5
| [ < NEE q
s S ] T ¢ 627
© é ® <«
/\ o ° © g;é @Q@ bt o o 3 o %3
SN o | elTrd 1]
(34 ] a9 1 !
40 | 40 | 40 = 64 o
167 o
i?ﬁ‘f?inm? T =569 + STROKE
Spindle axes internal
171 67 D | AMC
45 40 45
§$§2 @ \\ @ @
Stnderd | 4MEXES & NPCDB
BEEL T 1 ‘ ‘
N
A B C D

400 W 196 70 M4, M5 74
750 W 204 90 M5, M6 84

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

p - BB nit mm
AIMT40-LG2-LBRN-P /-7 Hi 8 5 8B # %22 high guide Solid Shaft left backward paralel installed "
-— 104 0 _
D 40
EEREME
=
67 132 T{%5E L =171 + STROKE 2
171 90.5
‘g 4M 58.5
25G7x3 _8-M6x12 _8-@9HT7x2.1
| [ < [ =
‘ \ !
k\ o] <=
© [9) @5 © ) I
© © e»é @ @ ® © SE
nd hdIE
4 | % |
34 40 40 40 ol 64 | »rJ
167 ~ o B
T=569 + STROKE
171 67
45 4 45
-3 &3\ @ @
4-M6x8.5 ‘ ‘ ‘

A B C D
400 W 196 70 M4, M5 74
750 W 204 90 M5, M6 84

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




ZCINT

BB unit: mm

% %@L%ﬁ’_ﬂ high guide left dual Solid Shaft standard

T=569 + STROKE
T {E#iE L =171 + STROKE 132 67
171 - 699
25G7x3 8-M6x12 _8-B9H7x2.1

] =
& & @ ® R4 * x ¢ 65{7
(1N B¢ © o — 4 © oF (o)

@ @ @ &) @QQ o 4

34 40 | 4 | 4
161

67

20

7
L3
Va
N
L3
— 718
»y ,‘
"l
P [o)
J 9.5 —

5
R
15 ]

10.5

@ é\ @ e

‘ 4-M6x 8.5

1 E
45 4 45 5 %]
mI DJ
EE

A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 8D drawings provided.

AEAEEHRSERAE, BERTELBRRREM“22D/3D

BB unit: mm

LG2-LDRN Eﬁ‘l% ﬁ?&ﬂ%ﬁﬂ%Nﬂ wide guide left dual Solid Shaft standard

T =569 + STROKE

61 T{E#5E L= 171 + STROKE 132 67
171 P L S
lo2567x3_8-M6x12 _8@9HTX2.1 Ay 585
! I
I I u‘1
a R @LQEF
©) ) O © © EISE
© © @é &) () ® © ] ] g
o
i e
3 | [ ﬁ |
& 40 40 40 34 R & J
167 R
El
@15h6
171 j
45 40 45 39
L | S
-3 &3\ @ -3
4MEX8.5
I
44
@15h6

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




5 LINEAR ACTUATOR

BB unit: mm

= @lgﬁﬁ’% high guide left dual Solid Shaft direct installed

T=569 + STROKE

67 T{E&[E L =171+ STROKE 132 67 1019
171 69.9
025G7x3 8-M6x12 _8-@9H7x2.1 4ﬂ;
\ ’ 11 =
[ [ 1 l
AN T o ox-& o 4 7| el
v»I ekje = — o GS (& ® <5 © [%F[ O
i : He | eTre
= 40 40 40 :g] L 1 ’
64
167 E EJ
\
@15h6 £
171 j
EHEnNE 45 40 45 S
Spindle axes internal
@ \)\ @ L3 3
‘ 4-M6x8.5 ‘
g, tid) i TE
S‘anﬁvf plf B
et .
\ K
prannE
A B © D
400 W 11 70 M4/M5s 75
750 W 21 90 M5/M6 80

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

AIMT40-L.G2-LDRN-D 7= {RIIEE H B = B B 322225 wide guide left dual Solid Shatt direct installed FRAT vt mm

T =569 + STROKE

67 T{F4EE L =171 + STROKE 132 67 o
171
|o2567x3 8-M6x12 8@OHTX2.1 45 —2—
\ | ' 1
‘ i i
I | b
o ° 3 é o g 3
© © @4 e;@e; e’» © [
e ol ia
34 4 | |
40 12(; 40 R ;l e ] ﬂ
: E
@15h6
171
45 40 45 | | J 3
L&
@ €\ @ L3 3
4-M6x8.5
\ K
%E?%ng//
T A B C D
400 W 11 70 M4 M5 75
750 W 21 90 M5, M6 80

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




LDRN-P /{3l

SN EHEZLEE high guide left dual Solid Shaft parallel installed

ZCINT

BB unit: mm

21

104
D 40
BERENE
L
67 132 T{E&E L =171+ STROKE 1009
171 9.9
02567x3_8M6x12 _8-@9HTX2.1 4M5
<
* N
© / x v ®&; e § é g Hg N
© ° © S t © B | o | B
° \\J ® € @ @ @ 3
F T "
3 2 [T 0 !
40 | 40 | 4 2[ 64 o
167 o 5
T =56 + STROKE - -
g15h6
171 Tt D y
45 40 45 || ;JJ %l =
L3 \K L3 L3
‘ 4-M6x8.5 & INPCDB
T j ] ‘ ‘
A B C D
400 W 196 70 M4 M5 74
750 W 204 90 M5 /M6 84

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

AIMT40-L.G2-LDRN-P 7= {81 8= 8 45 245 wide guide left dual Sold Shaft parallel installed

BB unit: mm

104
2 a0
,%iz?%mi —
=]
61 13 T{FE L = 171 + STROKE I~
171 %05
lo2567x3_sMex17 8@IHTx21 415 e
| ) u
l i q
o 1R oG
o o [} @Q ® ® BEE \
@ \\j o5 © © © @ @ ® ® © B i
i e
= 40 20 | 40 48 | !
167 a6 o o
T =569+ STROKE =
61
@15h6
171 ‘ j i D e
45 40 45 3 ‘ %
— T
@ \K L:3 @
4M6x85 ‘ ‘ 8 I\PCDB
A B C D
400 W 196 70 M4, M5 74
750 W 204 90 M5/ M6 84

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




BRES mEAEBILES

EU. TOOTHED BELT AXES LINEAR ACTUATOR

AIMT 63 -400- LN RB

D -M750

Fz

e,

fx

S3

R KL 712 ERLESE ARHESR  BERRUE BEhE FRA%
Toothed Belt Axes Size (mm) Stroke (mm) Left Sold Shaft ~ Right Solid Shat Motor Position Motor Power (W) Number of Sensors
Direction Direction
# i3 BEERE g aE 3
o el e g IS B
LF !ﬂjﬁz RF Eﬂﬁz 2] Faﬁiﬁf% =] WF 0 Hith Sp N @%EE
orwar onwar arallel Panasonic Others nx Sensors
P p 2|
L8 BEK\L%K{ RB BEkTird Y ikiml
o 2m Lo 750
fwo-way Two-way
BIEIE optionas @ I No options
Motor Power (W) 750 Fy ™
BEHE F.N) 1600
Torque (Nm) 2.39
LAy
B FHRIHE F d M) 8
Toothed Belt Si?e (mm) HTD8M - 15x 3 SRS
SEERE +04 My (Nm) 120
Rep. Accuracy (mm) -
eesig30 M (Nm) 24
[& & ik Hi2 63
Toothed Belt Size (mm)
. L o) 568.8
RERE 5000 ERE_RE
Max. Speed (mm/s) 2nd moment of area
LW (cm?) 6031
REE .
o 1...8000 / 100 # Pitch A — s
Basic Weight for Omm Stroke (kg) :
SHTRNEHES 36 ~
Per Meter Stroke (kg cm?/m) . F100mmiTIZIE N E S 18
Additional Weight per 100mm Stroke (kg) "
SRATEHEHEE L1
Per Kg Working Load (kg cm#/kg) 7.85 CSt -E\A-J}M ﬁﬁ%ﬁiﬁ x
m Contact Type
s - HASERERA CST1-MN-3M SERBENPNALGK
%ﬁg\ éﬁg Proximity Sensor 1m Contactless NPN Transistor
Max. Load (Kg) 18 q o
Gl _ CS1-MP-3M ZEFHREPNPALIAK
Sidehang 1m Contactless PNP Transistor

LEaHNBHR ERERZEHBERIERRAGEBERN Above load torque curve, the loading should be within the maximum load range



ZCINT

AIMT63 B AR stancard BB unit: mm

T=858+STROKE

T8 L = 234+ STROKE
106 | _ 206 234 106
45
305 s
= oo ]
55 = | 2-910 55 83 N
=
106
234 o
70 o <
. 60 60 i 225 x

s — L LV/IEE

& 5 T Y ] i Advarce guide

4-M6x8.5

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

% 8L unit: MM
BEIELEEE motor direct installed BB AT unif

T=858+STROKE

T e L = 234 + STROKE
106 206 234
45
325 21
e 48
1] 0O | > © |
AN S EEE
o o
8
55 = = 201 4
= 010 55 el 3
234 BERENE <
| B ——— |
70 \

4-M6x8.5

A B C D
750 W 18 90 M5/M6 120
1000/1500W 26 145 M8 130

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




dard

L

Advance guide

EU. TOOTHED BELT AXES LINEAR ACTUATOR

%{ﬂ Unit: MM

T=858+STROKE

106 206 T{F$5[E L =234 + STROKE TSOWERREH
FIAR &S
234 104
2065 —~_ 45 ren
325 | =
325 0 H L 4w
Ny T
4]

224

46.5
(0
(T
Q)
a
o [} @
®
83
115
127

&
119

‘ 8
| 2010 55 o

0.5

115

46.5

234
70
60 60

4-M6x8.5

AEAEEHRSERAE, BERTELBRRREM“22D/3D

%% This drawing is for reference only. The actual dimensions are based on the actual 2D / 8D drawings provided



BAR[E D EARE L

NIZIRVAN
/B a8

EU. TOOTHED BELT AXES LINEAR ACTUATOR

AIMT 63

R KL 71 1)
Toothed Bet Axes Size (mm) Stroke (mm) Guide Type
61 B9 sst
SSn
BIEIE optionas @ I No options
Motor Power (W) 750
FEHE
Torque (Nm) 2.39
BRI
Toothed Belt Size (mm) HTD8M - 15 x 3
ENE(AE Y
Rep. Accuracy (mm) -
e 63
Toothed Belt Size (mm)
BB
M§x. Speedx(mm/s) 5000
71280 _
e o) 1...8000 / 100 RS Pitch
SXTEHBNAE 36
Per Meter Stroke (kg cm?/m) :
SARAHNIIAS 285
Per Kg Working Load (kg cm?/kg) :
KF
= N Horlzontal 1 20
BABEE o
Max. Load (Kg) yr
2 80
Sidehang

400- LG1 - SS1

A E

Number of Siide

1 (8B
1xSide

n (B8R

nx Siides

LN RB- D

ERLESE ARLESR  BEREUE
Left Solid Shaft ~ Right Solid Shait Motor Postion
Direction Direction
;3 m iR -z
o Tuw  Rue gee= Q=
o i R RreE Qe
ek - S =l
w 2B o 22
Fy ) 14050
Fv 14050
PALilvars
Force and torques M (e 580
My (N.m) 1820
Mz (N.m) 1820
L (om') 1368
HE_RE
2nd moment of area
Ly (em?) 698.7
Basic Weight for Omm Stroke (kg) :
100mm{TIZIEME R 26

Additional Weight per 100mm Stroke (kg)

CS1-M-1M B30 1K

1m Contact Type

CS1-MN-3M EABZENPNAL3K

1m Contactless NPN Transistor

Tk A

Proximity Sensor

CS1-MP-3M £EAEREPNPEL3K

1m Contactless PNP Transistor

LEaHNBHR ERERZEHBERIERRAGEBERN Above load torque curve, the loading should be within the maximum load range

a
Detta.

T o Hfts

750

ZQAINT

M750 - S3

BEhE

Motor Power (W)

el s

Number of Sensors:

o3 8 ER9E

3x Sensors

gn N 1EIFRA

nx Sensors

1100

Q)

1,

AL (k

733

367

5 8 11 13 16 19 22 24 27 30
= Ly fRI0E E (cm)

- -l

3 1100
=

1.

5 8 11 13 16 19 22 24 27 30
= Le fRE E (cm)

- Lx -z

4000

q)

BHL (k

2667

1333

5 8 11 13 16 19 22 24 27 30
= Lyz fROE E (cm)

-y -z




5 LINEAR ACTUATOR

BB unit: mm

%ﬁﬂ%ﬁﬂ high guide Solid Shaft right forward standard

T =858+ STROKE

106 206 T {E&EE L =234 + STROKE 106
234
925x3 1445
¥ - 4-M8
8-99x2.1 8-M6x10 | - 91.5,
€ IS I

127
115
83
s
A
°®
- I
90
138

@ ?S@‘ i X @
B = 40 *L‘:‘»

$4 ~
(4
19

o
o = 106
~ 40
ESHNE PEn
Spindle axes internal
S 234
225
HAR
Servid (60 70 60 4-M6x8.5
B ERE _——-—————————

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

BB unit: mm

SN B 2 high uide Solid Shaft right forward direct installed

T=858 + STROKE

106 206 T{FEE L =234 + STROKE
234 _@25x3 106 144.5

4M8
8.09x2.1 /B—G—L'M ! 915

5 )| W
: 5 19 5] A ¢ =i
\hgia =@o EZJK%LM o 88
0o 1 oo
0 5 + - Jles
40 - = 106 .
40
230
|
_—— meguE
‘ ) 22
S D 0y 70 4-M6x8.5
g 2 7 =
A B C D
750 W 18 90 M5, M6 120
0 10001500 W 26 145 M8 130

3

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

232

n
(2] B _|



SN R L high guide Solid Shaft right forward parallel installed

T{F4EE L =234+ STROKE

206 106
104 234 @25x3
O 809x2.1 8-M6x10
q= : 8
. . o o > oo o
N . g/ﬁ S o2
55 40 55
40
106 40
230
T=858+STROKE
2 4-M6x8.5
sl 160 | 70 | 60 |

106
i

ZCINT

BB unit: mm

T50W(ERRE
N 915
4-M8 9 [
[ |F
= \E\@—gj I
5 7 [ @ S8
= 4, sl e
900 I

115
313
19

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

LNRB E?ﬁ&ﬁ&l%iﬂ%ﬁi@ high guide Solid Shaft right forward standard

T=858 + STROKE

106 206 T %5 L =234 + STROKE 106
234
225x3
8-@9x2.1 8M6x10 |
w7
<
° © ® ® L] o
© e &
|55 40 s +
§ 40
40
23
234
160 | 70 60 | 4-M6x 8.5
| [ | [
L —
N i ;
@25
I 3

BB unit: mm

144.5
4-M8 91.5
LN
$ e d=
S g i Pl sl 8
L 1 R o & &
20| oo
o] 11283
= 2
~| | 106

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




EAFBINE

Spindle ax

i

Standard

EEY

A

0
3

234

n
o | B _|

P.C.D.OB 106 8-09x2.1 8-M6x10 |

BB unit: mm

T=858 + STROKE

206 T{FE5E L =234 + STROKE
234 925x3
o 1445
106 915

; 106
Ll
230
234
} 60 } 20 } 60 } 4-M6x8.5
D ——
[se]
[ ]
4 T s A B c D
750 W 18 90 M5, M6 120
1000/1500 W 26 145 M8 130

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

BB unit: mm

LNRB-P E%ﬁﬁ?ﬁﬂ%ﬁﬂﬁ}%ﬁ% high guide Solid Shaft right backward parallel installed

T/E50E L = 234 + STROKE 206 106 TS0WERREH

1_&_1 234
@25x3 915

8-99x2.1 8-M6x10 4408 iﬁ }
< 1 g — — e,
N < N o] ==
o o o Sga4 [V Jds
o op % Y, i P @o —| S| oo L 5 o & 9
55 i
L2l el 2 - =3
3 - = 106
0 1445
230
T=858+ STROKE
4-M6x85
60 70 60 .
=l == e
m

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.



ZCINT

BB unit: mm

LNRD 18I &= 812 453 high quide dual Solid Shaft standard

T =858 + STROKE

106 206 T{EESE L =234+ STROKE 106
234
: _ @25x3 1445
- - 4-M8
809x21 8M6x10 | i -
g ? =
g ofo?ﬁ: o o 8 o AN e -
@ EANZ A (0 SE8cy B 98
Ky o 1 o
|55 40
9 i $4‘«55 . 83 o
< = 106 2
40
230
5 8 325 234
60 70 60, 4-M6x8.5
=== |
& - = o
T N =
1 T
o o 225
<| ™)

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

. N B3 un: mm
BI| & 1 8h = 87, B 3 R 4L high guide dual Solid Shaft direct installed B U

T=858+STROKE

206 T{E#[E L =234+ STROKE
o 225x3
4-M8 1445
8-99x2.1 8-M6x10 | 106 L5,
P.C.D.0B t__, 4 =L
< IS I

40
40
230
234
05 4-M6x8.5
A *H‘i 160 1 70, 60 |
< ™) ‘
Y 1]
o D o — o —
= T
BERENE A B C D

750 W 18 90 M5/M6 120
1000/1500W 26 145 M8 130

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




EAFBINE

Spindle ax

i

Standard

EEY

A

0
3

236

n
o | B _|

5 LINEAR ACTUATOR

& i = 81 RS B2 22 high quide dual Solid Shatt parallel installed

46.5

T{F5E L =234+ STROKE 206 106
104 234
?325x3
8-@9x2.1 8-M6x 10
g —
o ® o o
d > S’! ( gé -
40 55
2]
=] 40
40
230
T=858 + STROKE

60 70 60 4-M6x8.5

106
\

BB unit: mm

41

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

%E}‘L%Z’S@ high guide Solid Shaft left forward leftstandard standard

T=858+STROKE

106 T {E&EE L =234 + STROKE 206 L 106
225x3 234
8:M6x10 SR
g T g
| , — <
. 1 @ AR .(K 5 @
g ‘
»Ji« <o 0 55
40
230
234
4-M6x8.5 160, 70,60, B
[ 7 | [[ g <

BB unit: mm

TSOW(RRREH
915
A g
 —
4-M8 b }
g o oY
I ﬂ[ 1) B °£|]§ - o &
—| —i| ©O] b 4 ool o
90|09
83
3 106 o
144.5

138

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




ZCINT

BB unit: mm

LFRN-D 51 H S E B3 22 2E high guide Solid Shatt left forward direct installed

T=858 + STROKE
T {E&5E L = 234 + STROKE 206 106
234
G @25x3
8-M6 x 10 8-@9x2.1
1
:
B PO @73
© <
| 40 55
40
40
230
BERENE <
234 l !
4-M6x8.5 60 70 | 60 D 3
= — S
=1 ==

A B C D
750 W 18 90 M5/M6 120
10001500W 26 145 M8 130

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

BB unit: mm

ﬁﬁi%ﬁh%ﬁ%iﬁ’% high guide output sharft left forward parallel installed

T=858+ STROKE
T{#6E L =234 + STROKE
106, | 206 \ TSOWRREH
234 104 915
225x3 4
| 8-M6x10 8-09x2.1 H M
S T L
= S 1 h 5 Ee! < a
o _mf o o — o
=
Sll40 = =
40 106
40
230
"
234 o
4MEX8.5
% 160 70 /60
B L s

: === _ T

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




ﬁ'hfﬁﬁiﬁéﬁ?t(%?ﬁl\;%é EU. TOOTHED BELT AXES LINEAR ACTUATOR

BB unit: mm

T=858 + STROKE
106 T{F5E L =234 + STROKE

106

8-@9x2.1

@éj\&(‘/ E@
*Ji* % |40 a *J—u

|
234
225x3 | -

46 5
127
115
83
E A~
e
|
Ll
90
138

46.5

15
o L
19

40 =
e 40 106
Q?H‘éifm% 230
Spindle ax¢
234
4-M6x8.5
ey X 60 | 70 | 60
Standard
[F o |
T i ™ | =
925 |

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

BB unit: mm

LBRN-D /-1 &= 8 B2 %5 high guide Solid Shatt left backward direct installed

T =858+ STROKE
T{EE L =234+ STROKE 206 . 106
106 234
925x3 8-M6x 10 8-@9x2.1 4-M8
| o) e
A /)/ .

o o o 0@ e S o \ ~| 5 o
q@ %&f&(i@m = = 88
g o o X / o

o )
55 40 =
20 P.C.D.@B D 4C " L__—) o
40 = =
230
4MEX8.5 234
e
)] =
\ ]
mepmtm — |
A B C D
25 750 W 18 90 M5, M6 120
40 10001500 W 26 145 M8 130

63

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

238

—



ZCINT

BB unit: mm

LBRN-P =7 H 5 8 FE113 2L high guide Solid Shaft eft backward paralll installed

T=858+ STROKE
TSOWFEIARE
106_ 206 T{EE L =234+ STROKE 104 e .
234 |“—"1~= 2
225x3 8-M6x 10 =0
a3 8.09x21 ey ] I
] J [ Eas
- ©° r) o o clo.- é: o o 5 0 ?\\ o =
;9;70\0 o 0T o~ o o | «;D D; oo )
55
l 40 . . 83 i
40 = = 106 =
el 1445
3
234
4-M6x8.5 60 70 60
| | | |
=
g

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

BB unit: mm

LDRN {1 tHh = $MEL AR high guide left dual Solid Shaft standard

T =858 + STROKE
106 TfF#RE L =234+ STROKE 206 106
025x3 L 234 1445
‘ — 80921 M oL
)
‘ < i
A o) T

o oV
9
127
115
115 83
o LT
%o o®
e
0 |12
90
138

Sl il
*‘i* 40| |, *i‘*

<
40)
20 106
230
234
4-M6x8.5 160 | 70,60 05
2] |
[ [ 1 | I8+
[ Y 7 S
3%;%?{;

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




BB unit: mm

T=858 + STROKE

T {5550 L =234 + STROKE 206 . 106
106 234
@25x3 | 8-M6x10 8-99x2.1 4-M8
| I¢)

127

115
8
I

X p)
. . s .)€@ !
5@ -] ::®’,\ -} @5‘ : \’
°
> X o
F——) 40 T 83
55 & P.C.D.OB 5 Nag ]

2 o

% = 106 )
230
BITEHNE
Spindle akes inernal 234 225 | |
4-M6x8.5
[ | B_IE
il

AR §
Standard
e ez 8
Ac =

\ —
BEREME = A B © D

750 W 18 90 M5/M6 120

10001500W 26 145 M8 130

FEEERSZRR, BEER T & UEEIRM 2 2D/3DBEI4 A% This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.

LDRN-P 2 f81|%& 1 =5 RS2 %25 high guide left dual Solid Shat parallel installed FRAT vt mm

T =858+ STROKE
106, 206 T {E0E L = 234 + STROKE, i T50WERR T o5
234 = ﬂH
B25x3 8-M6x10 ARl A | } }
e Ko o F N0 7 o
o s SV S S T O e
:‘;7 o 00
40 K M i
40 B = 2
40 106
2 144.5
234 5
4-M6x8.5
=

‘55‘ 1064135

41

FEEEHRSERR, BERTEUBMRIEM22D/3DE A2 This drawing is for reference only. The actual dimensions are based on the actual 2D / 3D drawings provided.




ZCINT




	欧规同步带直线电缸滑台
	产品结构分析
	产品安装配置图
	欧规同步带直线电缸滑台
	AIMT-25
	AIMT-40
	AIMT-63





